



## PRESS RELEASE

## WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). September 15, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from September 8, 2025 to September 12, 2025, of n. 229,009 ordinary shares (equal to 0.03507% of the share capital) at the weighted average price of Euro 6.89959 for a total value of EUR 1,578,995.24.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

| <u>Date</u> | Quantity | Average price (Euro) | Countervalue (Euro) |
|-------------|----------|----------------------|---------------------|
| 08/09/2025  | 13,119   | 6.83085              | 89,613.92           |
| 09/09/2025  | 112,447  | 6.85051              | 770,319.30          |
| 10/09/2025  | 36,345   | 6.90571              | 250,988.03          |
| 11/09/2025  | 26,287   | 6.90399              | 181,485.19          |
| 12/09/2025  | 40,901   | 7.00689              | 286,588.81          |

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at September 12, 2025 the Company owns 9,749,558 ordinary shares (equal to 1.49245% of the share capital).

\*\*\*

This press release is available on Technoprobe's website <a href="https://www.technoprobe.com">https://www.technoprobe.com</a> in the Investor Relations section and on the authorized storage system named eMarket Storage" (<a href="www.emarketstorage.it">www.emarketstorage.it</a>).







## Contact

Technoprobe S.p.A.

Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager

Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

## **Technoprobe Group**

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







| Fill ID   | Fill Date  | Fill Time | B/S | Country | Market | Security Ref. | Fill Price | Fill Qty | Eur      |
|-----------|------------|-----------|-----|---------|--------|---------------|------------|----------|----------|
| 1ZAZHZEA6 | 08/09/2025 | 13:04:02  | Buy | IT.ico  | MTA    | TPRO          | 6.825      | 14       | 95.55    |
| 1ZAZHZEA7 | 08/09/2025 | 13:04:02  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 1,961    | 13393.63 |
| 1ZAZHZEA8 | 08/09/2025 | 13:04:02  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 5,112    | 34914.96 |
| 1ZAZHZEA9 | 08/09/2025 | 13:04:02  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 4,673    | 31916.59 |
| 1ZAZHZEEY | 08/09/2025 | 13:12:42  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 45       | 307.35   |
| 1ZAZHZEIL | 08/09/2025 | 13:19:13  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 13       | 88.79    |
| 1ZAZHZEIM | 08/09/2025 | 13:19:26  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 103      | 703.49   |
| 1ZAZHZEIP | 08/09/2025 | 13:20:03  | Buy | IT.ico  | MTA    | TPRO          | 6.83       | 79       | 539.57   |
| 1ZAZHZNF3 | 08/09/2025 | 17:28:55  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 231      | 1580.04  |
| 1ZAZHZNF4 | 08/09/2025 | 17:28:55  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 888      | 6073.92  |
| 1ZAZHZPYH | 09/09/2025 | 09:16:20  | Buy | IT.ico  | MTA    | TPRO          | 6.885      | 400      | 2754     |
| 1ZAZHZPYI | 09/09/2025 | 09:16:20  | Buy | IT.ico  | MTA    | TPRO          | 6.885      | 261      | 1796.985 |
| 1ZAZHZPYJ | 09/09/2025 | 09:16:20  | Buy | IT.ico  | MTA    | TPRO          | 6.89       | 250      | 1722.5   |
| 1ZAZHZPYK | 09/09/2025 | 09:16:20  | Buy | IT.ico  | MTA    | TPRO          | 6.89       | 4,504    | 31032.56 |
| 1ZAZHZPYL | 09/09/2025 | 09:16:20  | Buy | IT.ico  | MTA    | TPRO          | 6.89       | 585      | 4030.65  |
| 1ZAZHZS6N | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.86       | 146      | 1001.56  |
| 1ZAZHZS6O | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.86       | 1,000    | 6860     |
| 1ZAZHZS6P | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.86       | 116      | 795.76   |
| 1ZAZHZS6Q | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.865      | 63       | 432.495  |
| 1ZAZHZS6R | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.87       | 1        | 6.87     |
| 1ZAZHZS6S | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.87       | 1,147    | 7879.89  |
| 1ZAZHZS6T | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.87       | 959      | 6588.33  |
| 1ZAZHZS6U | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.87       | 791      | 5434.17  |
| 1ZAZHZS6V | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.87       | 3,332    | 22890.84 |
| 1ZAZHZS6W | 09/09/2025 | 10:09:51  | Buy | IT.ico  | MTA    | TPRO          | 6.87       | 1,445    | 9927.15  |
| 1ZAZHZSXH | 09/09/2025 | 10:42:34  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 3,000    | 20520    |
| 1ZAZHZSXN | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 250      | 1710     |
| 1ZAZHZSXO | 09/09/2025 | 10:42:55  | Buy |         | MTA    | TPRO          | 6.84       | 120      | 820.8    |
| 1ZAZHZSXP | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 384      | 2626.56  |
| 1ZAZHZSXQ | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 144      | 984.96   |
| 1ZAZHZSXR | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.84       | 45       | 307.8    |
| 1ZAZHZSXS | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.845      | 99       | 677.655  |
| 1ZAZHZSXT | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.845      | 108      | 739.26   |
| 1ZAZHZSXU | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.845      | 126      | 862.47   |
| 1ZAZHZSXV | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.85       | 250      | 1712.5   |
| 1ZAZHZSXW | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.85       | 199      | 1363.15  |
| 1ZAZHZSXX | 09/09/2025 | 10:42:55  | Buy | IT.ico  | MTA    | TPRO          | 6.85       | 2,174    | 14891.9  |







| 1ZAZHZSXY | 09/09/2025 | 10:42:55 | Buy | IT.ico | MTA | TPRO | 6.855 | 780    | 5346.9   |
|-----------|------------|----------|-----|--------|-----|------|-------|--------|----------|
| 1ZAZHZSXZ | 09/09/2025 | 10:42:55 | Buy | IT.ico | MTA | TPRO | 6.855 | 1,059  | 7259.445 |
| 1ZAZHZSY0 | 09/09/2025 | 10:42:55 | Buy | IT.ico | MTA | TPRO | 6.855 | 1,135  | 7780.425 |
| 1ZAZHZSY1 | 09/09/2025 | 10:42:55 | Buy | IT.ico | MTA | TPRO | 6.86  | 342    | 2346.12  |
| 1ZAZHZSY2 | 09/09/2025 | 10:42:55 | Buy | IT.ico | MTA | TPRO | 6.86  | 5,123  | 35143.78 |
| 1ZAZHZSY3 | 09/09/2025 | 10:42:55 | Buy | IT.ico | MTA | TPRO | 6.86  | 4,662  | 31981.32 |
| 1ZAZHZSYC | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.845 | 77     | 527.065  |
| 1ZAZHZSYD | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.85  | 18     | 123.3    |
| 1ZAZHZSYE | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.86  | 336    | 2304.96  |
| 1ZAZHZSYF | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.86  | 4,877  | 33456.22 |
| 1ZAZHZSYG | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.86  | 790    | 5419.4   |
| 1ZAZHZSYH | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.86  | 2,002  | 13733.72 |
| 1ZAZHZSYI | 09/09/2025 | 10:43:12 | Buy | IT.ico | MTA | TPRO | 6.86  | 11,900 | 81634    |
| 1ZAZHZZE7 | 09/09/2025 | 15:27:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 562    | 3846.89  |
| 1ZAZHZZE8 | 09/09/2025 | 15:27:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 294    | 2012.43  |
| 1ZAZI00C6 | 09/09/2025 | 15:45:48 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,500  | 10267.5  |
| 1ZAZI00C9 | 09/09/2025 | 15:45:48 | Buy | IT.ico | MTA | TPRO | 6.845 | 617    | 4223.365 |
| 1ZAZI00CA | 09/09/2025 | 15:45:48 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,500  | 10267.5  |
| 1ZAZI00CB | 09/09/2025 | 15:45:48 | Buy | IT.ico | MTA | TPRO | 6.845 | 750    | 5133.75  |
| 1ZAZI00CC | 09/09/2025 | 15:45:48 | Buy | IT.ico | MTA | TPRO | 6.845 | 750    | 5133.75  |
| 1ZAZI00CD | 09/09/2025 | 15:45:48 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,368  | 9363.96  |
| 1ZAZI01NN | 09/09/2025 | 16:18:24 | Buy | IT.ico | MTA | TPRO | 6.845 | 132    | 903.54   |
| 1ZAZI01NO | 09/09/2025 | 16:18:24 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,500  | 10267.5  |
| 1ZAZI01NP | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,086  | 7433.67  |
| 1ZAZI01NQ | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 207    | 1416.915 |
| 1ZAZI01NR | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 207    | 1416.915 |
| 1ZAZI01NS | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 414    | 2833.83  |
| 1ZAZI01NT | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,086  | 7433.67  |
| 1ZAZI01NU | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,086  | 7433.67  |
| 1ZAZI01NV | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 414    | 2833.83  |
| 1ZAZI01NW | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 1,500  | 10267.5  |
| 1ZAZI01NX | 09/09/2025 | 16:18:27 | Buy | IT.ico | MTA | TPRO | 6.845 | 27     | 184.815  |
| 1ZAZI029G | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.84  | 107    | 731.88   |
| 1ZAZI029H | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.84  | 160    | 1094.4   |
| 1ZAZI029I | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.84  | 236    | 1614.24  |
| 1ZAZI029J | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.845 | 5,511  | 37722.8  |
| 1ZAZI029K | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.845 | 2,913  | 19939.49 |
| 1ZAZI029L | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.845 | 881    | 6030.445 |







| 1ZAZI029M | 09/09/2025 | 16:29:28 | Buy | IT.ico | MTA | TPRO | 6.845 | 192   | 1314.24 |
|-----------|------------|----------|-----|--------|-----|------|-------|-------|---------|
| 1ZAZI02DE | 09/09/2025 | 16:31:06 | Buy | IT.ico | MTA | TPRO | 6.83  | 126   | 860.58  |
| 1ZAZI02DF | 09/09/2025 | 16:31:06 | Buy | IT.ico | MTA | TPRO | 6.83  | 347   | 2370.01 |
| 1ZAZI02DG | 09/09/2025 | 16:31:06 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,500 | 10245   |
| 1ZAZI02DH | 09/09/2025 | 16:31:06 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,500 | 10245   |
| 1ZAZI02DO | 09/09/2025 | 16:31:17 | Buy | IT.ico | MTA | TPRO | 6.83  | 167   | 1140.61 |
| 1ZAZI02E8 | 09/09/2025 | 16:32:35 | Buy | IT.ico | MTA | TPRO | 6.83  | 303   | 2069.49 |
| 1ZAZI02F6 | 09/09/2025 | 16:34:30 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,030 | 7034.9  |
| 1ZAZI02F8 | 09/09/2025 | 16:34:30 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,500 | 10245   |
| 1ZAZI02F9 | 09/09/2025 | 16:34:30 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,500 | 10245   |
| 1ZAZI02FO | 09/09/2025 | 16:34:55 | Buy | IT.ico | MTA | TPRO | 6.83  | 790   | 5395.7  |
| 1ZAZI02FP | 09/09/2025 | 16:34:55 | Buy | IT.ico | MTA | TPRO | 6.83  | 710   | 4849.3  |
| 1ZAZI02FQ | 09/09/2025 | 16:34:55 | Buy | IT.ico | MTA | TPRO | 6.83  | 710   | 4849.3  |
| 1ZAZI02FR | 09/09/2025 | 16:34:55 | Buy | IT.ico | MTA | TPRO | 6.83  | 790   | 5395.7  |
| 1ZAZI02GW | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 259   | 1768.97 |
| 1ZAZI02GX | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,241 | 8476.03 |
| 1ZAZI02GY | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,241 | 8476.03 |
| 1ZAZI02GZ | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 259   | 1768.97 |
| 1ZAZI02H0 | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,500 | 10245   |
| 1ZAZI02H1 | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 423   | 2889.09 |
| 1ZAZI02H2 | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,077 | 7355.91 |
| 1ZAZI02H3 | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 423   | 2889.09 |
| 1ZAZI02H4 | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,500 | 10245   |
| 1ZAZI02H5 | 09/09/2025 | 16:35:15 | Buy | IT.ico | MTA | TPRO | 6.83  | 1,104 | 7540.32 |
| 1ZAZI02WO | 09/09/2025 | 16:45:13 | Buy | IT.ico | MTA | TPRO | 6.82  | 31    | 211.42  |
| 1ZAZI02WP | 09/09/2025 | 16:45:13 | Buy | IT.ico | MTA | TPRO | 6.82  | 469   | 3198.58 |
| 1ZAZI02Y4 | 09/09/2025 | 16:46:11 | Buy | IT.ico | MTA | TPRO | 6.825 | 500   | 3412.5  |
| 1ZAZI02Y5 | 09/09/2025 | 16:46:20 | Buy | IT.ico | MTA | TPRO | 6.825 | 500   | 3412.5  |
| 1ZAZI02ZA | 09/09/2025 | 16:47:20 | Buy | IT.ico | MTA | TPRO | 6.83  | 140   | 956.2   |
| 1ZAZI02ZB | 09/09/2025 | 16:47:20 | Buy | IT.ico | MTA | TPRO | 6.83  | 283   | 1932.89 |
| 1ZAZI02ZC | 09/09/2025 | 16:47:20 | Buy | IT.ico | MTA | TPRO | 6.83  | 63    | 430.29  |
| 1ZAZI02ZD | 09/09/2025 | 16:47:20 | Buy | IT.ico | MTA | TPRO | 6.83  | 14    | 95.62   |
| 1ZAZI030H | 09/09/2025 | 16:48:12 | Buy | IT.ico | MTA | TPRO | 6.83  | 133   | 908.39  |
| 1ZAZI030I | 09/09/2025 | 16:48:12 | Buy | IT.ico | MTA | TPRO | 6.83  | 204   | 1393.32 |
| 1ZAZI033S | 09/09/2025 | 16:50:11 | Buy | IT.ico | MTA | TPRO | 6.83  | 500   | 3415    |
| 1ZAZI033T | 09/09/2025 | 16:50:11 | Buy | IT.ico | MTA | TPRO | 6.83  | 500   | 3415    |
| 1ZAZI035C | 09/09/2025 | 16:52:19 | Buy | IT.ico | MTA | TPRO | 6.835 | 144   | 984.24  |
| 1ZAZI035D | 09/09/2025 | 16:52:19 | Buy | IT.ico | MTA | TPRO | 6.835 | 99    | 676.665 |







| 1ZAZI038E | 09/09/2025 | 16:55:50 | Buy | IT.ico | MTA | TPRO | 6.845 | 28    | 191.66   |
|-----------|------------|----------|-----|--------|-----|------|-------|-------|----------|
| 1ZAZI038G | 09/09/2025 | 16:55:50 | Buy | IT.ico | MTA | TPRO | 6.845 | 158   | 1081.51  |
| 1ZAZI038H | 09/09/2025 | 16:55:50 | Buy | IT.ico | MTA | TPRO | 6.845 | 342   | 2340.99  |
| 1ZAZI038P | 09/09/2025 | 16:56:21 | Buy | IT.ico | MTA | TPRO | 6.845 | 500   | 3422.5   |
| 1ZAZI03D8 | 09/09/2025 | 17:01:06 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03DJ | 09/09/2025 | 17:01:27 | Buy | IT.ico | MTA | TPRO | 6.85  | 250   | 1712.5   |
| 1ZAZI03DK | 09/09/2025 | 17:01:27 | Buy | IT.ico | MTA | TPRO | 6.85  | 250   | 1712.5   |
| 1ZAZI03DL | 09/09/2025 | 17:01:29 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03DV | 09/09/2025 | 17:02:04 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03DW | 09/09/2025 | 17:02:04 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03EI | 09/09/2025 | 17:02:54 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03EJ | 09/09/2025 | 17:02:59 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03EK | 09/09/2025 | 17:02:59 | Buy | IT.ico | MTA | TPRO | 6.85  | 339   | 2322.15  |
| 1ZAZI03EO | 09/09/2025 | 17:03:03 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03EP | 09/09/2025 | 17:03:03 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03EV | 09/09/2025 | 17:03:06 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03EZ | 09/09/2025 | 17:03:14 | Buy | IT.ico | MTA | TPRO | 6.85  | 500   | 3425     |
| 1ZAZI03GK | 09/09/2025 | 17:04:09 | Buy | IT.ico | MTA | TPRO | 6.85  | 110   | 753.5    |
| 1ZAZI03GL | 09/09/2025 | 17:04:09 | Buy | IT.ico | MTA | TPRO | 6.85  | 78    | 534.3    |
| 1ZAZI03GM | 09/09/2025 | 17:04:09 | Buy | IT.ico | MTA | TPRO | 6.85  | 292   | 2000.2   |
| 1ZAZI03GN | 09/09/2025 | 17:04:09 | Buy | IT.ico | MTA | TPRO | 6.85  | 20    | 137      |
| 1ZAZI04NF | 09/09/2025 | 17:28:29 | Buy | IT.ico | MTA | TPRO | 6.845 | 500   | 3422.5   |
| 1ZAZI04NH | 09/09/2025 | 17:28:29 | Buy | IT.ico | MTA | TPRO | 6.845 | 500   | 3422.5   |
| 1ZAZI04OI | 09/09/2025 | 17:29:17 | Buy | IT.ico | MTA | TPRO | 6.845 | 500   | 3422.5   |
| 1ZAZI0KJI | 10/09/2025 | 12:18:59 | Buy | IT.ico | MTA | TPRO | 6.915 | 3,500 | 24202.5  |
| 1ZAZIONNU | 10/09/2025 | 13:28:43 | Buy | IT.ico | MTA | TPRO | 6.905 | 2     | 13.81    |
| 1ZAZIONNV | 10/09/2025 | 13:28:43 | Buy | IT.ico | MTA | TPRO | 6.91  | 3,507 | 24233.37 |
| 1ZAZIONNW | 10/09/2025 | 13:28:43 | Buy | IT.ico | MTA | TPRO | 6.91  | 1,491 | 10302.81 |
| 1ZAZI0NO0 | 10/09/2025 | 13:28:49 | -   | IT.ico | MTA | TPRO | 6.905 | 185   | 1277.425 |
| 1ZAZI0NO1 | 10/09/2025 | 13:28:49 | Buy | IT.ico | MTA | TPRO | 6.91  | 4,734 | 32711.94 |
| 1ZAZIONO2 | 10/09/2025 | 13:28:49 | Buy | IT.ico | MTA | TPRO | 6.91  | 81    | 559.71   |
| 1ZAZIONO7 | 10/09/2025 | 13:28:53 | Buy | IT.ico | MTA | TPRO | 6.91  | 1,736 | 11995.76 |
| 1ZAZIONO8 | 10/09/2025 | 13:28:53 | Buy | IT.ico | MTA | TPRO | 6.91  | 3,264 | 22554.24 |
| 1ZAZIONOB | 10/09/2025 | 13:29:00 | Buy | IT.ico | MTA | TPRO | 6.905 | 177   | 1222.185 |
| 1ZAZIONOC | 10/09/2025 | 13:29:00 | Buy | IT.ico | MTA | TPRO | 6.91  | 1,323 | 9141.93  |
| 1ZAZI0QIT | 10/09/2025 | 14:25:24 | Buy | IT.ico | MTA | TPRO | 6.885 | 256   | 1762.56  |
| 1ZAZIOQJ9 | 10/09/2025 | 14:25:57 | Buy | IT.ico | MTA | TPRO | 6.895 | 1,000 | 6895     |
| 1ZAZI0QNP | 10/09/2025 | 14:28:41 | Buy | IT.ico | MTA | TPRO | 6.89  | 1,000 | 6890     |







| 1ZAZI0RA3 | 10/09/2025 | 14:38:08 | Buy | IT.ico | MTA | TPRO | 6.895 | 1,000 | 6895     |
|-----------|------------|----------|-----|--------|-----|------|-------|-------|----------|
| 1ZAZI0RR5 | 10/09/2025 | 14:49:10 | Buy | IT.ico | MTA | TPRO | 6.91  | 2     | 13.82    |
| 1ZAZIORR8 | 10/09/2025 | 14:49:12 | Buy | IT.ico | MTA | TPRO | 6.91  | 1,000 | 6910     |
| 1ZAZIOSA9 | 10/09/2025 | 14:59:09 | Buy | IT.ico | MTA | TPRO | 6.905 | 12    | 82.86    |
| 1ZAZIOSI1 | 10/09/2025 | 15:03:38 | Buy | IT.ico | MTA | TPRO | 6.905 | 1,000 | 6905     |
| 1ZAZI0SI2 | 10/09/2025 | 15:03:39 | Buy | IT.ico | MTA | TPRO | 6.905 | 112   | 773.36   |
| 1ZAZIOSI3 | 10/09/2025 | 15:03:39 | Buy | IT.ico | MTA | TPRO | 6.905 | 235   | 1622.675 |
| 1ZAZI0SI4 | 10/09/2025 | 15:03:39 | Buy | IT.ico | MTA | TPRO | 6.905 | 653   | 4508.965 |
| 1ZAZI0T21 | 10/09/2025 | 15:14:04 | Buy | IT.ico | MTA | TPRO | 6.91  | 1     | 6.91     |
| 1ZAZI0T22 | 10/09/2025 | 15:14:04 | Buy | IT.ico | MTA | TPRO | 6.91  | 12    | 82.92    |
| 1ZAZI0T37 | 10/09/2025 | 15:15:31 | Buy | IT.ico | MTA | TPRO | 6.915 | 223   | 1542.045 |
| 1ZAZI0T38 | 10/09/2025 | 15:15:31 | Buy | IT.ico | MTA | TPRO | 6.915 | 1,000 | 6915     |
| 1ZAZI0T7K | 10/09/2025 | 15:18:03 | Buy | IT.ico | MTA | TPRO | 6.91  | 870   | 6011.7   |
| 1ZAZI0UHR | 10/09/2025 | 15:41:20 | Buy | IT.ico | MTA | TPRO | 6.915 | 2     | 13.83    |
| 1ZAZI0UJL | 10/09/2025 | 15:41:42 | Buy | IT.ico | MTA | TPRO | 6.915 | 1,000 | 6915     |
| 1ZAZI0V83 | 10/09/2025 | 15:50:11 | Buy | IT.ico | MTA | TPRO | 6.9   | 312   | 2152.8   |
| 1ZAZI0VEK | 10/09/2025 | 15:51:55 | Buy | IT.ico | MTA | TPRO | 6.9   | 273   | 1883.7   |
| 1ZAZI0XF1 | 10/09/2025 | 16:12:20 | Buy | IT.ico | MTA | TPRO | 6.9   | 37    | 255.3    |
| 1ZAZI0ZSO | 10/09/2025 | 16:34:28 | Buy | IT.ico | MTA | TPRO | 6.885 | 985   | 6781.725 |
| 1ZAZI139Z | 10/09/2025 | 17:10:16 | Buy | IT.ico | MTA | TPRO | 6.885 | 500   | 3442.5   |
| 1ZAZI13Q0 | 10/09/2025 | 17:14:31 | Buy | IT.ico | MTA | TPRO | 6.895 | 1,000 | 6895     |
| 1ZAZI144Y | 10/09/2025 | 17:19:18 | Buy | IT.ico | MTA | TPRO | 6.895 | 256   | 1765.12  |
| 1ZAZI14IB | 10/09/2025 | 17:22:57 | Buy | IT.ico | MTA | TPRO | 6.895 | 1,000 | 6895     |
| 1ZAZI14JI | 10/09/2025 | 17:23:15 | Buy | IT.ico | MTA | TPRO | 6.895 | 266   | 1834.07  |
| 1ZAZI14JO | 10/09/2025 | 17:23:15 | Buy | IT.ico | MTA | TPRO | 6.895 | 148   | 1020.46  |
| 1ZAZI152W | 10/09/2025 | 17:28:21 | Buy | IT.ico | MTA | TPRO | 6.895 | 419   | 2889.005 |
| 1ZAZI152X | 10/09/2025 | 17:28:21 | Buy | IT.ico | MTA | TPRO | 6.895 | 581   | 4005.995 |
| 1ZAZI1548 | 10/09/2025 | 17:28:38 | Buy | IT.ico | MTA | TPRO | 6.895 | 200   | 1379     |
| 1ZAZI159Q | 10/09/2025 | 17:29:43 | Buy | IT.ico | MTA | TPRO | 6.895 | 990   | 6826.05  |
| 1ZAZI1M7R | 11/09/2025 | 13:43:12 | Buy | IT.ico | MTA | TPRO | 6.905 | 750   | 5178.75  |
| 1ZAZI1M7S | 11/09/2025 | 13:43:12 | Buy | IT.ico | MTA | TPRO | 6.905 | 250   | 1726.25  |
| 1ZAZI1MFA | 11/09/2025 | 13:54:45 | Buy | IT.ico | MTA | TPRO | 6.905 | 1,000 | 6905     |
| 1ZAZI1MFD | 11/09/2025 | 13:54:45 | Buy | IT.ico | MTA | TPRO | 6.905 | 1,000 | 6905     |
| 1ZAZI1OHG | 11/09/2025 | 14:37:06 | Buy | IT.ico | MTA | TPRO | 6.89  | 268   | 1846.52  |
| 1ZAZI1OHH | 11/09/2025 | 14:37:06 | Buy | IT.ico | MTA | TPRO | 6.89  | 42    | 289.38   |
| 1ZAZI1OHI | 11/09/2025 | 14:37:06 | Buy | IT.ico | MTA | TPRO | 6.9   | 4,690 | 32361    |
| 1ZAZI1OHL | 11/09/2025 | 14:37:14 | Buy | IT.ico | MTA | TPRO | 6.9   | 4,735 | 32671.5  |
| 1ZAZI1OHM | 11/09/2025 | 14:37:14 | Buy | IT.ico | MTA | TPRO | 6.9   | 2,265 | 15628.5  |







| 1ZAZI1OHN | 11/09/2025 | 14:37:23 | Buy | IT.ico | MTA | TPRO | 6.895 | 250   | 1723.75  |
|-----------|------------|----------|-----|--------|-----|------|-------|-------|----------|
| 1ZAZI1OHO | 11/09/2025 | 14:37:23 | Buy | IT.ico | MTA | TPRO | 6.9   | 3,310 | 22839    |
| 1ZAZI1OHP | 11/09/2025 | 14:37:23 | Buy | IT.ico | MTA | TPRO | 6.9   | 1,440 | 9936     |
| 1ZAZI1USR | 11/09/2025 | 17:10:28 | Buy | IT.ico | MTA | TPRO | 6.915 | 1,614 | 11160.81 |
| 1ZAZI1USS | 11/09/2025 | 17:10:28 | Buy | IT.ico | MTA | TPRO | 6.915 | 372   | 2572.38  |
| 1ZAZI1VFN | 11/09/2025 | 17:21:38 | Buy | IT.ico | MTA | TPRO | 6.915 | 19    | 131.385  |
| 1ZAZI1VFO | 11/09/2025 | 17:21:38 | Buy | IT.ico | MTA | TPRO | 6.915 | 35    | 242.025  |
| 1ZAZI1VG0 | 11/09/2025 | 17:22:03 | Buy | IT.ico | MTA | TPRO | 6.915 | 1,783 | 12329.45 |
| 1ZAZI1VG2 | 11/09/2025 | 17:22:06 | Buy | IT.ico | MTA | TPRO | 6.915 | 149   | 1030.335 |
| 1ZAZI1VG3 | 11/09/2025 | 17:22:06 | Buy | IT.ico | MTA | TPRO | 6.915 | 82    | 567.03   |
| 1ZAZI1VG4 | 11/09/2025 | 17:22:06 | Buy | IT.ico | MTA | TPRO | 6.915 | 1,904 | 13166.16 |
| 1ZAZI1VG7 | 11/09/2025 | 17:22:14 | Buy | IT.ico | MTA | TPRO | 6.915 | 329   | 2275.035 |
| 1ZAZI27BX | 12/09/2025 | 13:33:26 | Buy | IT.ico | MTA | TPRO | 7     | 250   | 1750     |
| 1ZAZI27BY | 12/09/2025 | 13:33:26 | Buy | IT.ico | MTA | TPRO | 7     | 262   | 1834     |
| 1ZAZI27BZ | 12/09/2025 | 13:33:26 | Buy | IT.ico | MTA | TPRO | 7     | 358   | 2506     |
| 1ZAZI27G8 | 12/09/2025 | 13:39:29 | Buy | IT.ico | MTA | TPRO | 7     | 800   | 5600     |
| 1ZAZI27KK | 12/09/2025 | 13:45:28 | Buy | IT.ico | MTA | TPRO | 7     | 139   | 973      |
| 1ZAZI27MY | 12/09/2025 | 13:48:43 | Buy | IT.ico | MTA | TPRO | 7     | 191   | 1337     |
| 1ZAZI28CS | 12/09/2025 | 14:21:14 | Buy | IT.ico | MTA | TPRO | 7.01  | 760   | 5327.6   |
| 1ZAZI28CT | 12/09/2025 | 14:21:14 | Buy | IT.ico | MTA | TPRO | 7.01  | 636   | 4458.36  |
| 1ZAZI28CW | 12/09/2025 | 14:21:14 | Buy | IT.ico | MTA | TPRO | 7.01  | 223   | 1563.23  |
| 1ZAZI28CX | 12/09/2025 | 14:21:14 | Buy | IT.ico | MTA | TPRO | 7.01  | 72    | 504.72   |
| 1ZAZI28VM | 12/09/2025 | 14:39:09 | Buy | IT.ico | MTA | TPRO | 7.01  | 160   | 1121.6   |
| 1ZAZI28VN | 12/09/2025 | 14:39:09 | Buy | IT.ico | MTA | TPRO | 7.01  | 6     | 42.06    |
| 1ZAZI28VO | 12/09/2025 | 14:39:09 | Buy | IT.ico | MTA | TPRO | 7.01  | 935   | 6554.35  |
| 1ZAZI28Y9 | 12/09/2025 | 14:41:31 | Buy | IT.ico | MTA | TPRO | 7.01  | 742   | 5201.42  |
| 1ZAZI28YA | 12/09/2025 | 14:41:31 | Buy | IT.ico | MTA | TPRO | 7.01  | 654   | 4584.54  |
| 1ZAZI28YL | 12/09/2025 | 14:41:41 | Buy | IT.ico | MTA | TPRO | 7.01  | 1,170 | 8201.7   |
| 1ZAZI28YM | 12/09/2025 | 14:41:41 | Buy | IT.ico | MTA | TPRO | 7.01  | 226   | 1584.26  |
| 1ZAZI28YN | 12/09/2025 | 14:41:41 | Buy | IT.ico | MTA | TPRO | 7.01  | 220   | 1542.2   |
| 1ZAZI28YO | 12/09/2025 | 14:41:41 | Buy | IT.ico | MTA | TPRO | 7.01  | 1,176 | 8243.76  |
| 1ZAZI28YP | 12/09/2025 | 14:41:41 | Buy | IT.ico | MTA | TPRO | 7.01  | 58    | 406.58   |
| 1ZAZI28YQ | 12/09/2025 | 14:41:41 | Buy | IT.ico | MTA | TPRO | 7.01  | 962   | 6743.62  |
| 1ZAZI2B7J | 12/09/2025 | 15:48:21 | Buy | IT.ico | MTA | TPRO | 7.005 | 250   | 1751.25  |
| 1ZAZI2B7K | 12/09/2025 | 15:48:21 | Buy | IT.ico | MTA | TPRO | 7.005 | 267   | 1870.335 |
| 1ZAZI2B7L | 12/09/2025 | 15:48:21 | Buy | IT.ico | MTA | TPRO | 7.01  | 4,551 | 31902.51 |
| 1ZAZI2B7M | 12/09/2025 | 15:48:21 | Buy | IT.ico | MTA | TPRO | 7.01  | 4,955 | 34734.55 |
| 1ZAZI2B7N | 12/09/2025 | 15:48:21 | Buy | IT.ico | MTA | TPRO | 7.01  | 156   | 1093.56  |







| 1ZAZI2B7O | 12/09/2025 | 15:48:21 | D   | IT.ico | MTA  | TPRO | 7.01  | 4.449 | 31187.49 |
|-----------|------------|----------|-----|--------|------|------|-------|-------|----------|
| IZAZIZBIU | 12/09/2025 | 15.46.21 | Buy | 11.100 | WITA | IPRO | 7.01  | 4,449 | 31107.49 |
| 1ZAZI2B7P | 12/09/2025 | 15:48:21 | Buy | IT.ico | MTA  | TPRO | 7.01  | 372   | 2607.72  |
| 1ZAZI2BAC | 12/09/2025 | 15:49:09 | Buy | IT.ico | MTA  | TPRO | 7.005 | 250   | 1751.25  |
| 1ZAZI2BAD | 12/09/2025 | 15:49:09 | Buy | IT.ico | MTA  | TPRO | 7.01  | 2,039 | 14293.39 |
| 1ZAZI2BAE | 12/09/2025 | 15:49:09 | Buy | IT.ico | MTA  | TPRO | 7.01  | 1,993 | 13970.93 |
| 1ZAZI2BAF | 12/09/2025 | 15:49:09 | Buy | IT.ico | MTA  | TPRO | 7.01  | 718   | 5033.18  |
| 1ZAZI2CON | 12/09/2025 | 16:17:00 | Buy | IT.ico | MTA  | TPRO | 6.995 | 70    | 489.65   |
| 1ZAZI2COO | 12/09/2025 | 16:17:00 | Buy | IT.ico | MTA  | TPRO | 6.995 | 250   | 1748.75  |
| 1ZAZI2COP | 12/09/2025 | 16:17:00 | Buy | IT.ico | MTA  | TPRO | 6.995 | 144   | 1007.28  |
| 1ZAZI2COQ | 12/09/2025 | 16:17:00 | Buy | IT.ico | MTA  | TPRO | 6.995 | 292   | 2042.54  |
| 1ZAZI2COR | 12/09/2025 | 16:17:00 | Buy | IT.ico | MTA  | TPRO | 7     | 4,908 | 34356    |
| 1ZAZI2COS | 12/09/2025 | 16:17:00 | Buy | IT.ico | MTA  | TPRO | 7     | 336   | 2352     |
| 1ZAZI2E6W | 12/09/2025 | 16:57:40 | Buy | IT.ico | MTA  | TPRO | 6.995 | 1,488 | 10408.56 |
| 1ZAZI2F73 | 12/09/2025 | 17:19:43 | Buy | IT.ico | MTA  | TPRO | 7.005 | 663   | 4644.315 |
| 1ZAZI2FA3 | 12/09/2025 | 17:20:57 | Buy | IT.ico | MTA  | TPRO | 7.005 | 221   | 1548.105 |
| 1ZAZI2FD4 | 12/09/2025 | 17:22:51 | Buy | IT.ico | MTA  | TPRO | 7.005 | 75    | 525.375  |
| 1ZAZI2FKJ | 12/09/2025 | 17:26:35 | Buy | IT.ico | MTA  | TPRO | 7.005 | 336   | 2353.68  |
| 1ZAZI2FKK | 12/09/2025 | 17:26:35 | Buy | IT.ico | MTA  | TPRO | 7.005 | 777   | 5442.885 |
| 1ZAZI2FKL | 12/09/2025 | 17:26:35 | Buy | IT.ico | MTA  | TPRO | 7.005 | 11    | 77.055   |
| 1ZAZI2FO4 | 12/09/2025 | 17:27:43 | Buy | IT.ico | MTA  | TPRO | 7.005 | 305   | 2136.525 |
| 1ZAZI2FU3 | 12/09/2025 | 17:29:25 | Buy | IT.ico | MTA  | TPRO | 7.005 | 1,025 | 7180.125 |